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SECTION D :
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Instructions :

;. SqufSarT-AgateTy (TufSarsT-Aaaer)
SECTION A :

Unseen Reading Comprehension

;. TEATCHeRR (TETcHE - )

Writing Skills

: STIIIHEATHIIT (TSGR ST
SECTION C :

Applied Grammar

qfSd - raaerqy (qfsd-Taaer)

Reading Comprehension

(i) T F¥T93 TeER: GUST: Gi7 |
5 Jo7-97 H AR GUS & |

The question paper has four sections.

(i)  FIF GUSH 1T IV THIHT T FHI SFGAITT |

Y% GUE 3 I U &1 5778 W HH G Iora 8171 |

The answers to each section must be written at one place.

(iii)  FAGE] FATAFARY STTFTHT AGHIT |

¥~ 3 AR Fo7-G&T 37T & fera 1 8 |

15 AT

15 HA=T:

30 AT

30 =T

Write the question number according to the question paper.
(iv) TG I IFTT TEFAT TG |
Ty} 371 % I GEhd 7 17167/

Answer all the questions in Sanskrit.



Wus: & (SECTION A)
AUTSATIT— AT (STATSATIT— TSI )
Unseen Reading Comprehension 15 33T

1.  SAIfcIRaay AI=es TiScal TaauT HEeh I |
freaffaa 1=es 1 Test feU 7T weHi o ST T%ha § i |

Read the following passage and answer the given questions in

Sanskrit.

JIE TEEE | M BiAdI: YT | F6T "G B9 el
FeAd - gred w9 ot gfamar|’ Sed avensEn: o o afem:
FOM: | AeEfE: fomnfda: dqa wHaiiE: @ TRTeH STASEa i |
TS SHT: Telal GHFH STIERI | Td TF SHT: Tgree- dwel: wai=d |

AT
I TH9ed 3| 1x2=2
T I8 § I AT |
Answer in one word.
()  Shad o foam fomn ufeem: wof: ?
(i)  UFEH o M1 gal: yaf= ?

I YUiETRA 3 | 2x2=4

9o} TR | I S |

Answer in a complete sentence.
(i)  : HThed U IR ?
(i) o TFIRUGH AASFHA ¢

52/1 3 [P.T.O.
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I1I.

IV.

eitarsheu = 3feray 3T ferea forad |
faw 711 foehedt # 9 3o 3T g faafaw |

Choose and write the appropriate answer from the given options.

()

(@)

()

(¥1)

‘arefim:” sfa e yee forgony ?

() feenfdfa: (i) waa:
(iil) afeeme (iv) 9ead |
‘STrgFdf< 3 fshamaes o qus Tt TRy ?
(@) (ii) ferenfdia:
(iii) & (iv) I |
“FEfE et $cad TR 3TIg TenE! TR 7
() Sdw (i) ¥=%
(ii) afe T (iv) gder|
‘FATY 3f vee foh faaimdey o wgwe 7

() ST (i) IJIHTH
(iii) T (iv) SRR |

I oD i Y fad ¥k TEhd forerd |
T =S o foIQ 3ua 3iiveh eapd A feafl |

Write the appropriate title for this passage in Sanskrit.

FATARGT IeATeh TfSeaT TETITH TEha I |

frfaIRad veties =l UgaRt faU T 9=t o I T&hd § ST |

Read the following shloka and answer the given questions in Sanskrit.

‘STTET - QU SATEE FEIH |
T JUAT qTaTe qfe ||

Tehued 394 |
Teh ¥7e¢ | I ST |

Answer in one word.

(1)

QO ohid A= ?

Yyx4=2

Ix1=1
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I YUiETRA 3 | 1x2=2

9ol TR | I S |

Answer in a complete sentence.
(i) v ok wata ?
(i) ° fh wafa ?
. Sedfaeredsy: 3taaq 3 fuean forad | 1x2=2
fau U foreredi ® @ 3o I e fafaw |

Choose and write the appropriate answer from the given options.

() ==Tgd e Al 7

(ifi) STTEI:
(iv) S9I: |
@ue: @ (SECTION B)
TATCHehehTaH (TEFTeHeS: —ahTd )
Writing Skills 15 A
it o sTenfcriaad, o= Hes - vemsmes: [hiar F: foeq | 15x10=5

o =t fore U Frfrftaad o= st wes[n W 14U 77T ITeat oht TRt € U1 R
El}f:%rr@ﬁl

Complete the following letter, written to your friend, with the help of the

words given in the box and rewrite the same.

5 [P.T.O.



TS -BHEEE:,

Rt | ()
GEE ;|

3T A TG | TAHES STEHTR (i) GEhagrIN-

foferm (iii) ST | TSR AT T HEhd —GrATIR

(iv) HEH | T THET: ALATNEHMT: (v) My

AVaq | 38 G TogTRe (vi) FadH | Td SHT: gficar b
(vily — A% | TTH IO FEQl Rhad W (viil) |
| o x) —

I A TEhd TEINURT ASE (ix)

HY JOTHTSSIT FHaEq |

T e,
ST |

HSTHT

Afvay, 1wy, ufd, foemen, @Ay,
SRS, Raaea-™, ey, W ! wg |

4. IY: You o TCAT AT TEANSEHT TSR IS TR HEhdH
foraa | 2x5=10
e fou mu o 1 aoia e o fou U yrsst i wErdT @ uter Thd ST
H FhifST |

52/1 6



Describe the following picture in five Sanskrit sentences with the help of

the words given in the box below.

T, BT, e, U, I, IgAf, eI,
:, J&T:, TMehlceh: , UTHT Afe:, THEE |

319 (OR)

HeSTIEaRTeaMl arerad fefafad fowem sifvga usafa awraas:
TRy S1g=as fored |

oo § fau MU veat it wEmar @ feffiad fovs W ute SR 8
TS UEhd | feifiau |

Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box.
¢ W’
HSTT
S|, &y, fomn, Sfied, EmmE, oONee, gew, |,
STERTI:, SIS, g, ST, o, 317U, Lol Teweuiy |

52/1 7 [P.T.O.



@ug: T (SECTION C)
FIITFASATRIUTH (STTIT ek SATHIUT)

Applied Grammar 30 AZT:
5. gifaRgqarely Wiisauey af-d afo=ag a1 e foed | 1x4=4

fefaRaa e 1 Waiferd uet # af= s1erat af~-fa=se ot fafau |

Write the underlined words of the following sentences after joining or

disjoining Sandhis.

() I 9fd + THY STeramT FHarfiaad |
(ii) FFAMST: o= fouTaTsa: 31vaq |

(iii) T4 + AT SRS T34 |

(iv) TUSHaTq shIeT: shifeg IR |

6.  SAUTIRGAATRIY TWTEAIGHT T T8 a1 Yeqioshedsd: foear fo@d | 1x5=5
frefafaa e ® T@iferd el o1 g9E Agen fourg fou e foskedt o @
i |

Choose and write the correct compounded or expounded forms of the

underlined words in the following sentences.

() o e frerafq |
(i) TeE: afeor:
(i) TeE: = afer: =
(iii) 9 = v&fi = |

(@) fome 4t 759 9: U9 %al Il TIed @Iad |
(i) hfemer
(i) Tomest:
(iii) Tomgetent: |
() oo forener sgwar: ga1: wfEd |
() gH T =
(ii) =g werT
(iii) =g werT A F: |

52/1 8




(8) TorH o9 STTET HIYSHE ?
(i) FrEHE
(i) &= I
(iii) &9 T |
7.  FUfARgaaeRy W@isaueH JRfave @as favsy a1 3faaq, W
foeheu: foman foeq | 1x5=5
frforRaa arert o Warfed Ui o Jehiaucral sl STgah 3T Yo sish 3fed
IR forehedt # @ g forfiam |

Write the underlined words of the following sentences after joining or

disjoining suffixes to the roots or words, selecting the correct answer
from the options given below.

(%) Torferemt vt ® wet a3tafd |
(i) 93+ (i) 93 + M (iii) 9 + ¥
(@) Hg +IM AfcTenRrd qTEi e T |
() HEHHR: (i) HeHHR (iii) ST |
(1) AT TEq + o Td ST |
(i) weam (i) TEwq (iii) HeEH |
(|7) ST g A + A e STeHi |
(i) e, (ii) T (iii) TG |
(§) U fRIIR + Y AT Eaifd |
() T (i) feremrt (iii) foreTry
8.  uifuiRaqarey fekeermTi Hesmmr Yau: 3fd: sToae: Tiiean for@d | 1x5=5
frfeTRaa aret @ ek Tl <t gfd wes # fou U 3foa o/ e o |
TSI |

Fill in the blanks in the following sentences with appropriate

indeclinable words given in the box.

52/1 9 [P.T.O.
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() W~ o arsany |

(i) @d: sHrelq AT |
(iii) o=y T ! TeATaRIS o foh UMY 7
(iv) =iTEd FE |
(v) hifehat: RS ¢
TS
a%:,m, 'FITSIﬁT, hal, ¥9: |

o - o o
SEAEEIIE TcdT TR I |

3fod TET U8 IR ara qut shifsru|

Choose the correct numerical words and complete the sentences.

() o f&=n 9wl | (I I9@R:, 999 |)

(i) — e T | (39, B, Hfifor)

(i) foreme® —— <ol WEhR e | (3, 5, 33:1)

(v) — == a9 B | (Th:, TRH, TH )

(v) A3~ AHge: i | (TSI, IS, TSt |)

renferRaqareRy WanfEauey 1Ted, e | Yedfasmeus: 3fuay 3w facr

HAYSTE TN forad |

frefaRaa ameit 4 TErfend 98 o1y © | fou e forereai # @ 3t 3w Fe

3TYE U i we = fafan |

Choose the correct answer from the given options and correct the

underlined incorrect word in the following sentences.

(%) A1 SIeth: Gatd |
O LSED (i) Tt
(iii) sfereRt (iv) sfeteh |

10

1x5=5

1x6=6



11.

52/1

(@)

Ta: I T e

(i) ST=sq

(i) i<

" a1 qgdfaved sgamM:
(i) uvaYd

(iii) zeata

“ATE qEdeh wHaeT a8 Ffe |

() st
(iii) T3

3 B qEdeRTery w3 |
(i) usfd

(iii) T3

‘e T frrg sfed |

(i) ST

(iti) 1w

(i) st
(iv) TEsIY |

(i) 9HE:
(iv) seaf=d |

(i) uT3TH
(iv) U3t |

(ii) U
(iv) 789 |

(i) A&
(iv) wifersafa |

@vus: ¥ (SECTION D)
ufSa— Aty (Uisa—raaied)
Reading Comprehension 30 AST:

FALTARG TSN, U=, AT = UlScal TSy T TEhaH foTed |

frefafaa T, 97 R Ay # e fou MUyl % 3w Gk H
fofam |

Read the following prose, poetry and drama passages and answer the

given questions in Sanskrit.
(21) TrerIT:

“FIAISTY | T8 W HIe: | frveawer SATeHISEY | ety Moy ST
HTG: THIOM | T sherd TREAHM: d JaH Afsaaiy = s
JTEHg dTeft ST Icaw: ToRee Yo 9| 38 S, g I O9: Sd
focflad o wiE wder foemmis ud fpamsremd vt | o=t

11

STiter 7o, “feraret it 32 gfS: 77 A9, af o a1

[P.T.O.



52/1

TR

[.  WehyUeHd 39¢d | 1

II.

I11.

Teh ITee § I ST |

Answer in one word.

q: g4 TR S ?

qUiaTeRA 3T | 1
ol et | I i

Answer in a complete sentence.

T Toh Torfer ?

Jedfaehed s 3faay IR ferean forad | 1x2=2

fow TTu foehedt # 9 3o 3T g faafaw |

Choose and write the correct answer from the given options.

() Sy’ 3fa feRamaeesr siqug oy ?

i) gfe: (i) ¥,
(i) II9 (iv) =eH |
(@) “aa faemmIsE’ 31 ‘37’ 3d HaATHIE el T ¢
() FdHHEE (i) HE™E
(iii) ST (iv) STTd |
(3m) w=rm
AT gHYET T qeNT AR |
IRersd %ot U grisuse fageet: 117
q94T:
[ TS 39 | 1
Teh 15¢ T 3T AT |

II.

Answer in one word.
3UFS A T W?
quiaTeR 3T | 1
ol et | I i

Answer in a complete sentence.

fomest: Fige ool TNEsT 3T9ea e 7
12



I Yexiasheus: 3fuaq 3t facar foreq | 1x2=2
fow 7Tu foehedt # @ 3fod ST g foafaT |

Choose and write correct answer from the given options.

() ‘gea’ 3f framueey 5 sdud velish W ?

() eHyem (i) forgesh:

(i) e, (iv) %ad |
(@) ‘edyem’ st yee fogrsrg foryg ?

(i) <= (i) wNH

(i) e, (iv) ad |

(3) e
“Oeed: - g! foRAee 7 wad e g Feeisi R |

hlch: — (W)W'ﬁmﬁwm|mw
gay: |

Tored - O ot grTe ! Wi g Fafrd: SR S g
ferfy 7 swfy |

Fh: - TRl I wacn:| 3R ! TE Tew i feden sety,
SAT: e sfEeRd wen gt | T sgan! o) g
TATGY: FAN: Iq "I R FeRf ‘oFd J8d 9q
W:‘G’-‘ﬁﬂln

[ THdeH 39 | 1
T 3768 H I 31T |

Answer in one word.
378 TRY o gorHT: ?

. quiameRH 3T | 1
9ol TR | I S|

Answer in a complete sentence.
HTa: TRrep o et 7
52/1 13 [P.T.O.



I Yexiasheus: 3fuaq 3t facar foreq | 1x2=2
fau U forereai # @ 3fora I e fafaw |

Choose and write the correct answer from the given options.

(%) ‘ergfr.” gfa fomivoress foh fomoadey ?

(i) TerEd: (i) =
(iii) =afora: (iv) SHSITRI |
(@) ‘T=af<’ sfa fopamaes foh queq ?
() T (i) AT
(iii) TTed: (iv) o= |
12.  eifaRadewmemmat g we faseds: foen foreq | 1x2=2

frfcTRaa e o1 Fgfea Wre foehedl | @ Ao faTRaT |

Choose and write the correct gist of the following sentences from the

given options.
() “HH TS ET: g T |
(i) GI: FIETIHT UL |
(i) G T T TUET STEEET |
(i) T TF GIE TOHTRT: STE: |
(@) wefeqq o, Telt s ovg |
() gTiCeAT: Ul T THRATR T |
(i) Td SHT: e IR o] gie: o wag |
(iil) 9 TETE: T: HedTvl TFd o q93=q |

13.  TosTa: TYfedueT o stenfaiaaraiegaed 3= gd | 1 x4=4
o[ § & THfod ug ARt FfetRad St Teileni o o+ sl U1 ShifTT |
Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box.

(EF) “fagi“!@ﬂ|%5@iﬂt@bqrd;gﬁﬁﬁ1:|
FAN wed ¥ g =eEEd wa )
52/1 14
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I - (i) QAo fogTE: Ta T Jehifaar: |
(ii) a8+ A (Teget) o g Tl 7 |
(@) ““wrfd o 1 Tk qaeHayfSIan |
eI Tt fout | acameg sEifm a1
= - fawt ! e @y 3t 7 qaeHa-gieay
EEZ KR E1T) M— e
gy (iv) — |
RNl
=T, i, sty s1fe |

TETEauaTH STEe T HHT |
T@ioRd Ual o TR W I3 fmior $Hifsw)|

Frame the questions on the basis of the underlined words :
() ST Aok T UHE YT |

(i) HoINH & T fored |

(iii)  PTRET & HH Fedl : G AT |

(iv) TR 3Aeh 3cHT: HI=I |

(v) ARV TSYTHT ST AT |

AN ARG HATHATIARY T |

freafefiaa arerti st JeTsha & TgER fafe |

Write the following sentences in their sequential order.

() U foRTere 9umTR YUHER: STEATIeRT: o JUTAST: |
(i)  STAIFHR o TATH TAATH S5 - |

(i) TEAIHIAV qF FHEToeIg NHRRIATT IR=—: Jeq: |

(iv) QT 9 T Yo J@ieqdn: fvfdr: |

(v) T QAT AT ST STEwe I |

(vi) TEYYH o SRV Yeohd: Hiwed Ffofay |

15

1x5=5

Y, 8=4

[P.T.O.



(vii) TR TeaTATeE T smfigy s=sf |
(viii) T ST T Jovre fore? iy Segat: |

16. Y@ETEdaueH yeEgary 31 fuca foraa| 1x3=3
{@Tohd &I o TEMZER 31 gt ferfae

Choose and write the contextual meanings of the underlined words.
(%) o AT T AR |
(i) =g
(ii) ST,
(i) 3R |
(@) ‘“Fo AT AR G T2 |
(i) AT
(i) SITd:
(iii) IO |
(M) ‘e T Al wEe |
(i) @8
(i) Ry
(iii) g@Hq |

52/1 16



